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SN AZ AT E T R B it Ry (i) JR) 322, 480, 835 M SN AZ AT E T R B i O ey (i) JR) 329, 583, 888 M
SN AR E T R it e O e (B n ) 312, 036, 926 H SN AR E T R i e O e (B n ) 324, 565, 580 Il
SN AZ AT T E T IR it e PR e e (=) 310, 876, 491 H SN AZ AT T IR it e PR e e (=R 317,038, 117 =
NN AZ AT R VR it 2 PR e e (B I 301, 593, 016 H NN AZ AT T VR it 2 PR e e (B ) 313, 274, 386 =
JINAFEAZ BN E I R B it O 2 CRUEBA) 306, 234, 754 M JINAFEAZ AT E I R B it O 2 GRS 320, 801, 849 M
JINAFEAZ R AT I VR B it R 2 (ORBU) 318, 999, 532 M JINAFE AZ N I VR B it e 2 (ORBU) 333, 347, 620 M
TN AR MRS E e R R it e R e (S IR 302, 753, 451 M I AR MRS e R R it e e (S IR 317,038, 117 M
SN AZ AT E T IR it e PR e e (R BB 310, 876, 491 H JINNGE A AT T E T IR it e PR e e (R BB 325, 820, 157 =
SN AZ AT R VR it 2 PR e (R Ly IR 306, 234, 754 H SN AZ AT T R VR it 2 PR A e (R Ly IR 320, 801, 849 =
SN AZ AT R VR it e O e e (S ) 280, 705, 197 H SN AZ AT R VR it e O e e (S ) 291, 946, 575 =
JINAE A2 MR E I R R e e 2 (AR IR 279, 544, 763 M JINAE A2 AR E i R R e e e (AR IR 290, 691, 998 M
SN AZ AT E N R B i e O 2y (LR 292, 309, 541 M SN AZ AT E T R B i e Oy ([ LR 304, 492, 346 M
JINAE 2R RS E T B R ek e e (AR IR 281, 865, 632 M I 2R D E I B R ek e . (AR IR 293, 201, 152 M




NN AZ AT T E R IR i e PR e e (Ll o B 285, 346, 935 H SN AZ AT E R IR it e PR e e (1L o B 296, 964, 884 M
NI AZ RS E R R I a e B (S JR) 294, 630, 410 M NI AZ R E R R E O B (S JR) 305, 746, 923 I
A A A E N R R ik O 8 (R IR) 288, 828, 238 = NAE AR E I R R ik 2 () IR) 299, 474, 038 =]
SN AZ BN E T R R e O 2y (bR IR 288, 828, 238 1= SNSRI E I R R ik 2 (bR IR 299, 474, 038 M
I AZ AT T IR it e PR e e (e B 288, 828, 238 H SN AZ AT T VR it e PR e e (e B 299, 474, 038 =
I AZ AT T VR i 2 R 4 e (o] ) 289, 988, 672 H I AZ AT T VR i 2 R A e (] U 296, 964, 884 =
SN AZ AT T E T VR it e PR e e (e I 286, 507, 369 H NN AZ AT T E R VR it e PR e e (e U 298, 219, 461 M
JINAFEAZ BN E I R B it O 2y (Rl IR 276, 063, 460 M JINAFEAZ BN E T R B it O 2y (Rl IR 286, 928, 267 M
A A BN E T R R a2 (REARIR) 274,903, 025 1= A A BN E I R R kO 2 (REARIR) 285, 673, 690 M
SN AZ AT T T IR it e PR e e (R0 B 270, 261, 288 H SN AZ AT T T IR it e PR e e (R0 B 280, 655, 381 =
I AZ AT T VR it 2 PR A e (el U 265, 619, 550 H SN AZ AT T T VR it B PR A e (el U 276, 891, 650 =
DN AZ AT TR VR i e PR A e (R IS IR 270, 261, 288 H DN AZ AT TR VR it e PR A e (R IS IR 280, 655, 381 =
NN AR T E T VR it e O e (PP ) 251, 694, 338 H NN AR E R VR it e O e (PP ) 261, 836, 725 I
P A R i X R B B R R R b R 0. 04687 — Hp A A S Bt B R 4 e kB AR L SR 0. 04748 —
(mR IS E MR PR B B X BB LR 0. 02474 — Rk IEE ek (R Bt B R R 0. 02527 —
AR —TVIEE 1 km 2472 0 a2 R (biE) 146, 472 [ km ABNT—TNVGER 1 km 2472 0 gk Rt (AbifEE) 151, 345 4 km
ABNT—TNVGER 1 km 472 0 gk et (HHRE) 138, 979 [ km ABNT—TNVGER 1 km 472 0 gk et (HHRE) 143, 233 M km
ABNT—TNVGER 1 km 472 0 gk et CaFIR) 143, 590 [ km ABNT—TNVGER 1 km 472 0 gk et CaFIR) 148, 225 M km
A BNV —T)VEER 1 km 2472 0 fiaR R T (ElR) 145, 896 M km A BNV —T)VEER 1 km 2472 0 sk R (ElR) 150, 721 [ km
ARV —TNVHER 1 km 472 0 figk R et GKHEIR) 140, 708 M km ARV —TNVHER 1 km 2472 0 figk R et GKHEIR) 145, 105 M km
ABN—TNVHER 1 km 472 0 figk et (LR 145, 896 M km ABN—TNVHER 1 km 472 0 figk et (LR 150, 721 M km
ABNT—TNVGER 1 km 472 0 figd et (tEEIR) 148, 201 [ km ABNT—TNVGER 1 km 472 0 gk et (tEEIR) 153, 218 M km
ABNT—TNVGER 1 km 272 0 figd et (RIR) 156, 847 [ km ABNT—TNVGER 1 km 2472 0 gk REE (KRIR) 163, 202 M km
A SNV —T)VEER 1 km 2472 V) sk R 2T WiAR) 155, 118 M km A BNV —T)VEER 1 km 2472 0 sk R 2T WiAR) 161, 330 [ km
A BNV —T)VEER 1 km 2472 0 sk R BEEIR) 152, 813 M km A BNV —T)VEER 1 km 2472 V) sk R e BEEIR) 154, 466 [ km
A BN —TNVIER 1 km 2472 Y fgk et (FER) 163, 764 ' km A BN —TVIER 1 km 2472 Y fgk e et (FER) 169, 442 M km
ABNGT—TNVGER 1 km 2472 gk et (THER) 170, 104 [ km ABNGT—TNVGER 1 km 2472 0 gk et (THER) 176, 306 M km
ABNT—TNVGER 1 km 2472 0 gk Rt (HUTHD) 176, 444 [ km ABNT—TNVGER 1 km 2472 0 gk Rt (HUHD) 183, 171 M km
AL —TVIERE 1 km 2472V gk R a8 (SR 171, 257 M km AL —TVIERE 1 km 2472V gk Rt (SR 171, 938 M km
A BN —TVIER 1 km 2472 Y fgk et Gis) 144, 743 M km A BN —TVIER 1 km 2472 Y fak et Gis) 150, 097 1 km
A BV —T)VEER 1 km 2472 0 sk R (FILR) 150, 507 M km A SV —T)VEER 1 km 2472 0 sk R (FILR) 156, 338 M km
ABNV—TNVHER 1 km 472 0 figkfr et )R 151, 083 M km AZ N —T)VIER 1 km 2472 Y fask R (a)IE) 156, 962 M km
ABNT—TNVGER 1 km 2472 0 figd et (tEHIR) 149, 354 [ km ABNT—TNVGER 1 km 2472 0 gk et (tEHIR) 156, 338 M km
ABNT—TNVGER 1 km 2472 0 gk et (LAUR) 167, 798 [ km ABNT—TNVGER 1 km 272 0 gk et (LAUR) 173,810 M km
A ANV —TER 1 km 2472 0 kR (BRI 155, 694 M km A ANV —T VR 1 km 2472 0 kR e2E (BRI 161, 954 M km
A BV —T)VEER 1 km 2472 0 fiaR R g (BRI 153, 389 M km A BNV —T)VEER 1 km 2472 V) fiaR R g (IR 159, 458 [ km
ALV —T)VEER 1 km 2472 V) sk R AT (E ) 162, 035 M km ALV —T)VEER 1 km 2472 V) fiaR R g (EIR) 165, 698 M km
ABNT—TNVGER 1 km 272 0 figd et (Erld) 156, 847 [ km ABNT—TNVGER 1 km 2472 0 figZ et (EmlR) 163, 202 M km
ABNT—TNVGER 1 km 2472 0 gk et (ZEIR) 156, 271 [ km ABNT—TNVGER 1 km 2472 0 gk et (ZEIR) 159, 458 M km
ABNT—TNVGER 1 km 2472 0 gk et QGEIR) 151, 660 [ km ABNT—TNVGER 1 km 2472 0 gk et QGEIR) 157, 586 M km
A BN —TVIER 1 km 2472 Y fgk et GLae) 153, 965 M km A BN —TVAER 1 km 2472 Y fgk et GLa) 161, 330 1 km
A BNV —TNVIER 1 km 2472 0 figk et (KBRJE) 160, 305 ' km A BNV —TNVIER 1 km 2472 0 figk R et (KBRJE) 167, 570 1 km
A BN —TNVAER 1 km 2472V fgk ety (L) 152, 236 M km A BN —TNVAER 1 km 2472V fgkfr ety (RER) 159, 458 1 km
ABNT—TNVGER 1 km M72 0 gk et (REIR) 156, 271 [ km ABNT—TNVIER 1 km 472 0 gk et (REIR) 163, 826 M km
A BV —T)VIEE 1 km 2472 Y R {E 2 GnagklR) 153, 965 [ km ALV —TVIERE 1 km 472V gk R ok lLR) 161, 330 4 km
ABNT—TNVGER 1 km 2472 0 gk ety (BEUR) 141, 285 [ km ABNT—TNVGER 1 km 2472 0 gk et (BEUR) 146, 977 M km
A BN —TNVIER 1 km 2472 Y fgk et (BRIE) 140, 708 M km A BN —TVAER 1 km 2472 Y fgk et (BRIE) 146, 353 1 km
A BNV —T)VEER 1 km 2472 0 fiaRfEaE (ML) 147, 049 M km A BV —T)VEER 1 km 2472 0 sk R eg (ML) 153, 218 M km
A BNV —T)VEER 1 km 2472 V) sk R 2T (LBIR) 141, 861 M km A SNV —TVEER 1 km 2472 0 fisR R 2T (LEBIR) 147, 601 M km
ABNT—TNVGER 1 km 2472 0 gk Rt (LHIR) 143, 590 [ km ABNT—TNVGER 1 km 472 0 gk Rt (LHR) 149, 473 M km
ABNT—TNVGER 1 km 2472 0 gk et (EER) 148, 201 [ km ABNT—TNVGER 1 km 472 0 gk et (EER) 153, 842 M km




ABNT—TNVGER 1 km 2472 0 gk et (&) 145, 320 [ km ABNT—TNVGER 1 km 472 0 gk et (&) 150, 721 M km
A BN —TVIER 1 km 2472V fgk et (g 145, 320 M km A BN —TVIER 1 km 2472 Y fgk et (ZiElR) 150, 721 1 km
APV —TNVHER 1 km 472 0 figk et (EER) 145, 320 M km ABNT—TNVHER 1 km 2472 0 figk et (R 150, 721 M km
A BN —TNVAER 1 km 2472 Y fak et (@) 145, 896 M km A BN —TNVAER 1 km 2472 Y fgk et (@) 149, 473 1 km
ABNT—TNVGER 1 km 2472 0 gk et (BB 144, 167 [ km ABNT—TNVGER 1 km 2472 0 gk et (BB 150, 097 M km
ABNT—TNVGER 1 km 2472 0 gk et (RiEIR) 138, 979 [ km ABNT—TNVGER 1 km 2472 0 gk et (RiRIR) 144, 481 M km
ABNT—TNVGER 1 km 2472 0 gk et (BEARIR) 138, 403 [ km ABNT—TNVGER 1 km 2472 0 gk et (BEARIR) 143, 857 M km
A SV —T)VEER 1 km 2472 0 sk R (KOR) 136, 097 M km A BNV —T)VEER 1 km 2472 0 sk R (KOR) 141, 361 [ km
ABNT—TNVHER 1 km 472 0 figk et (ElRIR) 133, 792 M km A SNV —T)VEER 1 km 2472 0 sk R T (EIRIR) 139, 489 M km
AL —TVIERE 1 km 472V gkt et (ERER) 136, 097 [ km ABNT—TNVGER 1 km 2472 0 gk Rt (PRI EIR) 141, 361 M km
ABNT—TNVGER 1 km 2472 0 gk Rt (PPHRR) 126, 875 [ km ABNT—TNVGER 1 km 2472 0 gk PRt (i) 132, 001 M km
A BN —T NHIIAE BRI 72 O fak R g 263 M el A BN —T VNG B 72 D ek Rty 273 M el
IMAZRIEr — 7 VEER 1 km 2472 0 gk {2 (bigE) 30, 061 ' km IMAZRIEr — 7 VEER 1 km 2472 0 gk {2 (bigE) 31,061 1 km
MAFZNA —TVIEE 1 km Y72 0 ka2 GGHAE) 28, 523 M km IMAEN — T VIEE 1 km 2472 0 a8 (FHRE) 29, 396 [ km
MAFZNA —TVIEE 1 km Y720 ka2 CAEFR) 29, 469 M km IMAEN — 7 VIER 1 km 24720 fas 28 CEFIR) 30, 420 M km
AR — 7 /VEER 1 km 2472 0 g R et (CEhlR) 29, 942 9 km AR — T VEER 1 km 2472 0 g R et (CEhlR) 30, 933 M km
AR — 7 NVAER 1 km 2472 0 ik {2 Bk IR) 28, 878 [ km AR — 7 VAER 1 km 2472 0 ik {2 Bk IR) 29, 780 M km
AR — 7 NVAER 1 km 2472 0 sk {2 (LIER) 29, 942 [ km AR — 7 NVAER 1 km 2472 0 sk 2 (LIER) 30, 933 M km
IMAFZNA —TVIEE 1 km Y72 0 ka2 EEER) 30, 416 M km IMAEN — 7 VIEE 1 km 2472 0 fs a8 EEIR) 31, 445 [ km
IMAFZNA —TVIEE 1 km Y72 0 a2 GR¥R) 32, 190 M km IMAEN — 7 VIEE 1 km 2472 0 fa {28 GrRyIR) 33, 494 M km
IMAZNA —TVIEE 1 km Y72 0 a2 (AR 31, 835 M km MAFZNA —TVIEE 1 km Y72 0 a2 (iAR) 33,110 M km
IMARN — 7 NVIEE 1 km 272V fagk {2 (REEIR) 31, 362 9 km IMARN — T NVIEE 1 km 272 0 fg {8 (REEIR) 31, 701 M km
IMARNT — 7 NVIEE 1 km 2720 [k {28 (BER) 33,610 4 km IMARNT — 7 NVIEE 1 km 2720 [k {28 (BER) 34, 775 M km
IMAFZNA —FVIEE 1 km Y72 0 fmgie et (THER) 34,911 M km MAFZNA —TVIEE 1 km Y72 0 fmife et (THER) 36, 184 [ km
IMAFZNA —TVIEE 1 km Y72 0 g2 G 36, 212 M km IMAFZNA —TVIEE 1 km Y72 0 a2t G 37, 592 [ km
MAFRNA — T VIERE 1k 2472 0 S (h4s)11R) 35, 147 ' km IMARNT — T NVIER 1 km 24720 [k 28 (4 1R) 35, 287 M km
AR — 7 NVAER 1 km 2472 0 ik {28 CHiEIR) 29, 706 9 km AR — 7 NVAER 1 km 2472 0 sk {28 CHiEIR) 30, 805 M km
AR — 7 /VEER 1 km 2472 0 gk ke (E1LR) 30, 889 9 km AR — 7 /VEER 1 km 2472 0 gk ke (EILR) 32, 085 M km
AR — 7 NVAER 1 km 2472 0 sk 28 CaJllR) 31, 007 [ km IMAZRIN T — 7 NVAER 1 km 2472 0 ik 2 CaJllR) 32,213 M km
MAFZNA —TVIEE 1 km Y72 0 a2 EHER) 30, 652 M km MAFZNA —TVIEE 1 km Y72 0 a2 EIHER) 32, 085 [ km
IMAFZNA —TVIEE 1 km Y72 0 a2 (LELR) 34, 438 M km IMAFZNA —TVIEE 1 km Y72 0 a2 (LELR) 35, 671 M km
IMAZRIEr — 7 VAER 1 km 2472 0 gk {2 (REFR) 31, 953 ' km IMAZRIEr — 7 VEER 1 km 2472 0 gk {2 (RER) 33, 238 M km
AR — 7 /VEER 1 km 2472 0 fag R et (I RIR) 31, 480 9 km AR — 7 /VEER 1 km 2472 0 fag a4t (I RIR) 32, 726 M km
AR — 7 VEER 1 km 2472 0 fag R et (FRhIR) 33, 255 4 km AR — 7 /VEER 1 km 2472 0 fag R et (FhhIR) 34, 006 M km
IMARN — 7 NVIEE 1 km 272 0 fgk {8 (EaR) 32, 190 4 km IMARNT — 7 NVIEE 1 km 272 0 fgk {8 (EHR) 33, 494 4 km
AR —T7VIER 1 km 2472 0 gk et (ZFEE) 32, 072 M km MARNr —TVEER 1 km 2472 0 Sk ket (ZFEIR) 32, 726 [ km
IMAFZNA —TVIEE 1 km Y720 ke ed (E R 31,125 M km IMAGEN — 7 VIER 1 km 2472 0 [ {28 (BB IR 32, 342 M km
AR — 7 VEER 1 km 2472 0 fag R et GIEB) 31, 599 9 km AR — 7 VEEER 1 km 2472 0 faa R e GLEB) 33, 110 4 km
AR — 7 /VEER 1 km 2472 0 fag a4t ORB) 32, 900 9 km AR — 7 VEEER 1 km 2472 0 fag R et ORB) 34, 391 M km
IMARN — T NVIEE 1 km 272V fg {8 (SfEIR) 31, 244 4 km IMARN — 7 NVIEE 1 km 272 0 fg g (SfEIR) 32, 726 M km
MAFZNA —TVIEE 1 km Y720 ka2t (ERF) 32, 072 M km IMAFZNA —TVIEE 1 kn Y720 ki et (BRR) 33, 622 [ km
IMARN T — 7 NVAER 1 km 2472 0 a2 (Fnakil ) 31, 599 ' km IMAZRN T —T7 NVAER 1 km 2472 0 s fe g (Fnakil ) 33,110 M km
MAFZNA —TVIEE 1 km Y720 ka2 (BEUR) 28, 996 M km MAFZNA —TVIEE 1 km Y72 0 ka2 (BEUR) 30, 164 M km
AR — 7 NVAER 1 km 2472 0 sk {2 (BRIE) 28, 878 M km AR — 7 NVAER 1 km 2472 0 gk {2 (BRIE) 30, 036 M km
IMARN — 7 NVIEE 1 km 272 0 fag a2 ([ IR) 30, 179 4 km IMARN — 7 NVIEE 1 km 272V fag a2 ([ IR) 31, 445 M km
IMARNT — 7 NVIEE 1 km 272V fgk {8 (L EIR) 29, 114 4 km IMARNT — 7 NVIEE 1 km 272 0 fgk {8 (L EIR) 30, 292 M km
IMAFZNA —TVIEE 1 km Y720 a2 (La ) 29, 469 M km IMAGEN — 7 VIER 1 km 2472 0 faa% a8 (Lo R) 30, 677 [ km
IMAZRIEr — 7 VAER 1 km 2472 0 gk S (fEER) 30, 416 ' km AR — 7 VEER 1 km 2472 0 gk {2 (fHER) 31,573 M km
IMAZIEA — T NER 1 km 2472 0 a8 FJIE) 29, 824 ' km IMAFZNA —TVIEE 1 km Y72 0 g2 (B 30, 933 M km
AR — 7 NVAER 1 km 2472 0 sk {2 (EhEIR) 29, 824 M km AR — 7 NVAER 1 km 2472 0 ik {2 (EEIR) 30, 933 M km
IMARNT — 7 NVIEE 1 km 2720 fgk {8 (EaR) 29, 824 4 km IMARN — 7 NVIEE 1 km 2720 [k a8 (EaR) 30, 933 M km




IMARN — 7 NVIEE 1 km 272 0 fg {2 (R IR) 29, 942 I km AR — T VIERE 1 km 472 0 fagk iR et (fEhlR) 30, 677 4 km
IMAFZNA —TVIEE 1 km Y72 0 i ie gy (IR 29, 588 M km IMAEN — T VIER 1 km 2472 0 faa e edh (EEIR) 30, 805 [ km
MAFZNA —TVIEE 1 km Y72 0 a2 (BiGE) 28, 523 M km IMAEN — T VIEE 1 km 2472 0 [ 28 (BRR) 29, 652 M km
IMAFZNA —TVIEE 1 km Y72 0 g2 (FEARR) 28, 405 M km IMAGEN — 7 VIER 1 km 2472 0 fa a8 (FEARIR) 29, 524 M km
IMARN — 7 NVIEE 1 km 272V fgk e eg (Ko=) 27,931 I km AR — T NVIERE 1 km 472 0 Sk iR et (KoR) 29, 012 9 km
IMARNT — T NVIEE 1 km 2720 [k {28 (EikIR) 27, 458 I km IMARNT — 7 NVIEE 1 km 2720 [k {28 (EikIR) 28, 627 4 km
IMAFN T — 7w@§1métbm et (BEIRER) 27,931 I km AR r— 7w@§1métbm et (BEIRER) 29, 012 4 km
IMAGEN — T VIER 1 km 2472 0 faa% a8 (REIR) 26, 039 M km IMAGEN — 7 VIEE 1 km 2472 0 faa% a8 (HEIR) 27, 091 [ km
AR —T VA B S 720 ﬁm IR 263 M lal AR —T VA B4 720 ﬁm R 273 M Ial
kR — T VIER 1 km 2472 0 figk iR (AeiEE) 193, 167 [ km HfE R — T e R 1 km 2472 U filiak %A%(tﬁﬁ) 215, 854 M km
PHkRE A — T VIER 1 km 2472 Y gk iR et (FHRE) 183, 196 M km kR — T VIER 1 km 2472 0 Mgk iR 2 (FHARE) 204, 189 4 km
kR — T VIER 1 km 2472 0 figk iR 2 CaTIR) 189, 332 [ km iR — 7 Ve R 1 km 72 Y fiig %A%(%iﬁ) 211, 368 4 km
kR — T VIER: 1 km 2472 0 MigkiR 2% (EiR) 192, 400 M km kSR — T VAER: 1 km 2472 0 gk RS (CEiIR) 214, 957 [ km
kR — T VIER: 1 km 2472 0 MR 2% (BKHIR) 185, 497 M km kSR — T VAER: 1 km 2472 0 gk RS (B IR) 206, 881 [ km
kR — T VIER: 1 km 2472 0 MR 2% (LJER) 192, 400 M km kSR — 7 VIER: 1 km 2472 0 gk 2 (LIEIR) 214, 957 M km
kR — T VIER 1 km 2472 0 gk R 2 (HEEIR) 195, 469 9 km kR — 7 VEER 1 km 2472V gk R 28 GEEIR) 218, 546 4 km
kR — T VIER 1 km 2472 0 figk R GRIRIR) 206, 974 [ km kR — T VIER 1 km 2472 0 figk R GRIRIR) 232, 902 4 km
kR — T VIER 1 km 2472 0 figk R 2 (BEALR) 204, 673 4 km kR — T VIER 1 km 2472 0 figk R 2 (BALR) 230, 211 I km
kR — T VIER: 1 km 2472 0 Migkin 2% (BEBIR) 201, 605 M km kSR — T VIER: 1 km 2472 0 gk R 2 (REEIR) 220, 340 [ km
kR — T VIER: 1 km 2472 0 MigkiR 28 (GER) 216, 179 M km kSR — T VAER 1 km 2472 0 gk R (B ER) 241, 875 M km
kR — T VIER: 1 km 2472 0 MR 2% (TIER) 224, 616 M km kSR — T VIER: 1 km 2472 0 gk e (TIER) 251, 745 M km
kR — T VIER 1 km 2472 0 figk R EEER) 233, 054 [ km kR — T VIER 1 km 2472 0 figk R 2 EEER) 261, 615 4 km
kR — T VHER 1 km 2472 Y fak PRt (R4 IR) 226, 150 [ km kR — T VIER 1 km 2472 0 ek PRt (AR 245, 464 4 km
kR — T VIER: 1 km 2472 0 MR8 CHisiR) 190, 866 M km kSR — T VIER: 1 km 2472 0 gk R CHriEIR) 214, 059 [ km
kR — T VIER: 1 km 2472 0 Migkie 2% (B11R) 198, 537 M km kSR — 7 VIER: 1 km 2472 0 gk iR (E11R) 223, 032 [ km
kR — T VIER: 1 km 2472 0 Migkie 2% CAJIIR) 199, 304 M km kSR — T VIER: 1 km 2472 0 gk R (a)l1IR) 223, 930 M km
kR — T VIER 1 km 2472 0 figk iR (FEHIR) 197, 003 [ km kR — T VIER 1 km 2472 0 figk iR (FEHIR) 223, 032 4 km
kR — T VIER 1 km 2472 0 figk R (LFLER) 221, 548 9 km kR — 7 VIER: 1 km 2472 0 fiigk R 22 (LUELE) 248, 156 4 km
kR — T VIER 1 km 2472 0 Mgk iR (EEFIR) 205, 440 4 km kR — T VIER 1 km 2472 0 figk R (EEFIR) 231, 108 I km
PR — T VEER 1 km 2472V gkt (R IR) 202, 372 M km kSR — T VAER: 1 km 2472 0 gk R (B IR) 227,519 [ km
kR — T VIER: 1 km 2472 0 Migkie 2% (EriaR) 213, 878 M km kSR — 7 VIER: 1 km 2472 0 gk (FRiIR) 236, 491 M km
kSR — 7 VIER: 1 km 2472 0 gk R (ZaR) 206, 974 M km kR — T VIER: 1 km 2472 0 MR8 (EHR) 232, 902 1 km
kR — T VIER 1 km 2472 0 figk iR (ZHIR) 206, 207 [ km kR — T VIER 1 km 2472 0 figk iR 2 (ZHIF) 227,519 4 km
kR — T VIER 1 km 2472 0 Mgk R (BEEIR) 200, 071 4 km kR — T VIER 1 km 2472 0 Mgk R (BEEIR) 224, 827 I km
kR — T VIER 1 km 2472 0 figk R 2 GLEb) 203, 139 4 km kR — 7 VIER: 1 km 2472V gk iR 22 CGRUED) 230, 211 4 km
kR — T VIER: 1 km 2472 0 Migkie 2% OB 211, 577 M km kSR — T VIER: 1 km 2472 0 gk 2 (OKRBUR) 239, 183 [ km
kR — T VIER: 1 km 2472 0 MigkiR 8 (LER) 200, 838 M km kSR — T VAER: 1 km 2472 0 gk iRt (i) 227,519 M km
kR — T VIER 1 km 2472 0 figk iR 2 (ESEIE) 206, 207 9 km kR — 7 VEER 1 km 2472V gk iR 28 (BRIR) 233, 800 4 km
Hi R — T Ve R 1 km 72 fax R4 CRuak L bs) 203, 139 [ km Wi R — T Ve R 1 km 272 D fax R4 (Rl b&) 230, 211 M km
kR — T VIER 1 km 2472 0 figk R (SEUR) 186, 264 [ km kR — T VIER 1 km 2472 0 figk R (SEUR) 209, 573 4 km
kR — 7 VIER: 1 km 2472 0 Migkin 28 (BRIE) 185, 497 M km kSR — 7 VIER: 1 km 2472 0 gk R (BRIR) 208, 676 [ km
kR — T VIER: 1 km 2472 0 Migkie g (10 5R) 193, 934 M km kSR — T VIER: 1 km 2472 0 gkt (110 IR) 218, 546 [ km
kR — 7 VLR 1km 2472 0 MigkiR 2% (EER) 187, 031 M km kSR — T VIER: 1 km 2472 0 gk R 2 (A5 IR) 210, 470 M km
HifE R — 7 VIR R 1 km 72 Y fiis %A%(MDQ) 189, 332 9 km kR — T VIER 1 km 2472 0 Mgk iR (Lo IR) 213, 162 I km
kR — T VIER 1 km 2472 0 gk R 2 (T8 IR) 195, 469 [ km kR — T VIER 1 km 2472 0 figk R (FEEIR) 219, 443 4 km
HE R — T Ve R 1 km 2472 V) Jiliak %A%(§Mﬁ) 191, 633 4 km kR — T VIER 1 km 2472 0 figk iR GE)IIR) 214, 957 4 km
kR — T VIER: 1 km 2472 0 MR8 (ZER) 191, 633 M km kSR — T VAER: 1 km 2472 0 gk R (EhEIR) 214, 957 [ km
kSR — 7 VIER: 1 km 2472 0 gk R 2 (EaR) 191, 633 M km kR — T VIR 1 km 2477 0 a2t (55 iE) 214, 957 1 km
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MEN 7 — T VIEE 1 km 2472 Y gk et (HAR) 328, 945 [ km MEN 7 — T VIEE 1 km 2472 Y gk et (HFAE) 336, 816 [ km
HESEr — 7 VIER 1 km 2472 0 fiisR R 2T CaTFIR) 340, 350 M km HESr — 7 VIER 1 km 2472 0 fiisR R CaTFIR) 349, 053 [ km
HESEr — 7 VIER 1 km 2472 0 fisR 2T (EHUR) 346, 053 M km HESEr — 7 VIER 1 km 2472 0 fisR R 2T (EHUR) 355, 171 M km
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